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Question 1. 

The weight of coffee in glass jars labelled 100g is normally distributed with mean 
101.5g and standard deviation 7.2g.

The weight of an empty glass is normally distributed with mean 260g and standard 
deviation 5.3g. 

The weight of a glass jar is independent of the weight of the coffee it contains.

Find the probability that a randomly selected jar weighs less than 264g and contains 
less than 103g of coffee.

[8 marks]



Question 2.

A company produces electronic components which have life spans that are normally 
distributed. Only 2.5 percent have a life span less than 2975 hours and 1 percent 
have a life span greater than 5060 hours. 

(a) Determine the mean and standard deviation of the life spans of the components.

[6 marks]

There is a warranty of 3770 hours on the components.

(b) Find the proportion of components that the company can expect to replace under 
the warranty



[4 marks]



Question 3.

The lifetimes of batteries used for a computer game have a mean of 9 hours and a 
standard deviation of 5 hours. 

Battery lifetimes may be assumed to be normally distributed.

Find the lifetime, t hours, of a battery such that 1 battery in 7 will have a lifetime 
longer than t.

[6 marks]



Question 4. 

Strips of metal are cut to length L cm, where L~N(μ,0.52).

(a) Given that 2 percent of the cut lengths exceed 45.48 cm, show that μ=44.5, to 1 
decimal place.

[5 marks]

(b) Find P(43.68<L<45.32).

[4 marks]

Those strips with length less than 43.68 cm or greater than 45.32 cm cannot be used. 
Two strips of metal are selected at random.

(c) Find the probability that both strips cannot be used.



[2 marks]



Solutions

Question 1.

Question 2

Question 3.

Question 4.


